Worksheet for Lab 9

Name ______________________

3.7    3.9 What output was generated?

	Ï «Ï ----jGRASP exec: java Example1
ÏÏ§Ï
ÏÏ§ÏGrade in CS139: B+
	4 points 

	ÏÏ§ÏGrade in CS239: B
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.ÏÏ
	4 points



3.10    3.12 What output was generated?

	Ï «Ï ----jGRASP exec: java Example1
ÏÏ§Ï
ÏÏ§ÏGrade in CS139: B+
	2 points

	ÏÏ§ÏGrade in CS239: B
	2 points

	ÏÏ§ÏI did worse in CS239 than in CS139
	4 points

	ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
	


3.14    3.16 What output was generated?

	 Ï«Ï ----jGRASP exec: java Example1
ÏÏ§Ï

ÏÏ§ÏGrade in CS139: B+
2 points
ÏÏ§ÏGrade in CS239: B
2 points
ÏÏ§ÏI did worse in CS239 than in CS139
2 points
ÏÏ§ÏAverage for CS139 and CS239: 3.15
4 points

ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.


4.11 What output was generated?

	ÏÏ«Ï ----jGRASP exec: java Example2
ÏÏ§Ï
	

	ÏÏ§ÏGrade in CS139: B+
	4 points

	ÏÏ§ÏGrade in CS239: B
	4 points

	ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
	


4.14 What output was generated?

	 Ï«Ï ----jGRASP exec: java Example2
ÏÏ§Ï
ÏÏ§ÏGrade in CS139: B+
	3 points

	ÏÏ§ÏGrade in CS239: B
	3 points

	ÏÏ§ÏAverage for CS139 and CS239: 3.15
	4 points

	ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.

	


4.17 What output was generated?

	 Ï«Ï ----jGRASP exec: java Example2
ÏÏ§Ï
ÏÏ§ÏGrade in CS139: B+
	3 points

	ÏÏ§ÏGrade in CS239: B
	3 points

	ÏÏ§ÏAverage for CS139 and CS239: 3.15
	4 points

	ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
	


5.5 What output was generated?

	 Ï«Ï ----jGRASP exec: java Example3
ÏÏ§Ï
ÏÏ§ÏGrade in CS139: B+
	3 points

	ÏÏ§ÏGrade in CS239: B
	3 points

	ÏÏ§ÏAverage for CS139 and CS239: 3.15
	4 points

	ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
	


5.6 Do you think the approach you used in Example3.java is good or bad? (circle)

	Good

3 points
Bad


	Why?   

Good because the indexes are more meaningful  3 points (only had to say 1 or the other – although some said both)
Bad because it wastes a lot of space


These are the thought questions I came up with while doing part 3.

Where did you need to put 3.2 and 3.3?

	In main
	5 points




What did you have to do to carry out 3.4?

	You had to use the fully qualified letterGrade: (e.g. letterGrade.BPLUS)
	5 points




Why is formatGrade static?

	Because it is a method in the same class as main
	5 points




What is done in 3.5 that we have asked you not to do?

	A method call is embedded in an output statement
	5 points

(gave them 4 if they said using printf)


Why couldn't you say if (cs139 < cs239) in step 3.8?

	Because the "<" symbol is not defined for objects
	5 points


What do you think the shortcomings of simple enumerated types are?

	The methods that belong to the type are in main instead of in the type
	5 points (no one got more  than 2)


